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_#1: T A X (28) #2: 11 vi#(25.91) #3: 9

F
g

3
W

(25. 34)

# 11 & K743 Mean: 5CW-1 50 60 1 |[# 12 » K Mean: 4SE-3 150 20 1
v AB42 -170  3HS-1 50 30 1 v AT6 70 2SE-3 150 20 1
¢ T75 3HS-2 -100 20 2 ¢ 9854 3SE-2 100 1.0 1
& T5 3DE4 130 1.0 1 & KJ762 3CN3 110 1.0 1
» AJT9 & 652 3CW5 -150 1.0 1 | |& A865 & T972 2SE-2 100 1.0 1
v JT7 v38 A 00 2 ||v KQJI75 I v 4 A 00 2
*J ¢ AKB8432 3SW5 200 -1.0 1 ||e T32 ¢ KJ7 3HW-1 50 -1.0 1
& AKJ73 & 862 3HXS-2 -300 -40 1 & Q9843 2SE-1 50 1.0 2
TEVEN 4 Q8 5CW5 -400 6.0 2 TOVEPN 4 Qi3 2HW-1 50 -1.0 1
N ~~1 ~ ~ v KQ953 N22~~1 v832 2SE2 110 -50 1
S ~~1~~ ¢ Q9% S 22~~1 ¢ AQ6
E 44~32 «Q% E ~~~~~ & AT5
W 44 ~32 W ~ ~ ~ ~ ~
# 13 o AT Mean: 4HN5 650 1.0 1 ||# 14 » QT53 Mean: 2SN2 110 6.0 1
v QJ852 620 A 00 2 v T75 120 A 00 2
¢ AKT3 4HN4 620 00 9 ¢ 653 2HW2 110 0.0 1
& 87 & A52 3HW3 -140  -10 4
* J9763 N & Q42 & AK72 * 96 3HW4 170 20 3
v 64 v 93 v KQ984 v J62 1HW4 170 20 1
v 42 4+ | ¢ aom o KJ7 + QT82
& A542 & KQT3 & & Q976
®IVEN 4 K85 ®*evVeN o Jga
N ~ 34 ~3 v AKT7 N 1~~~~ »A3
S ~34~3 ¢J8 S 1 ~~~~ ¢ A%
E ~~~1~ #J9% E ~23~~ &KT843
W ~ ~~1 ~ W ~23~~
# 15 + Q874 Mean: 4HW-1 50 70 1 |[# 16 » A93 Mean: 4SW-1 100 100 2
v AQ9 220  3HWA4 170 20 1 v T932 -350  3SW4 170 50 1
¢ T3 3HW3 -140 20 1 ¢ AQ 25W4 170 50 1
& JT62 2HW4 170 20 2 & Q532 35W6 230 3.0 1
+ J63 & AKT2 1HW4 170 20 1 | |& KQT84 & 765 A 00 2
v 76543 v KT82 2HWS5 200 1.0 1 ||v AK85 — v QJ 4SW5 650 -7.0 1
+ AQ94 ¢ K A 00 2 ||e 82 ¢ T96 4sw4 620 -7.0 4
& K & 7543 4HW4 <420 -50 3 ||& K6 & AJT94
®evVeEN 405 ®POVEN o 2
N 11~~n~wlJ N ~1~~~ w764
S 11~~~ ¢J87652 S ~ 1~~~ ¢ KJ7543
E ~~ 42~ &AQ9 E 3~33~ #87
W ~~42~ W 3 ~33~
# 17 + AQ96 Mean: 4SN4 420 80 2 ||# 18 » K9 Mean: 4NE-6 300 50 1
v 97 80  2SN5 200 30 1 v AK7 110  3NE-6 300 50 2
¢ 974 2SN3 140 20 1 ¢ QT8542 5CE-3 150 10 2
& AJ95 A 00 2 & Q9 A 00 2
@ 32 » K84 3CE-1 50 1.0 1 ||& QJT542 * 83 4CE-2 100 00 2
v T53 v KQ84 4SN-1 50 -40 3 ||v QJT6 I v 52 4SW-1 50 20 1
¢ KT3 ¢ J86 4SN-2 -100  -50 2 ||e 976 ¢ A 3sw3 -140 -60 1
& Q8642 & KT7 & & AKT87632 5DN-2 -200 -70 1
®OVeN o JT75 VPN 4 A76
N ~2131 vAJ62 N ~32~~ v 9843
S ~2~31 ¢ AQ52 S ~32~4 ¢ KJB
E1~~~~ &3 E2~~2~ &J54
W 1~~~ ~ W 2 ~~2 ~
# 19 e K Mean: 4HE-3 300 70 1 |[#20 » Q64 Mean: 2SW-2 200 60 1
v A854 0 5DW-1 100 3.0 1 v AQ5 30  2HW-2 200 60 1
+ J83 A 00 2 ¢ A743 1NS1 90 30 1
& T7654 35S-1 50 20 7 & J63 A 00 2
* Q4 & 963 3SXS-1 -100  -3.0 1 ||& J532 » AK9 1NS-1 -100 -20 3
v 762 v KQT3 v T986 v 432 1NE1 90 20 1
+ AQT5 * K72 ¢ KT2 + * J86 1HW1 80 -20 1
& AJI93 & KQ8 & 84 & AK92 1NS-2 200 -50 2
TV PN 4 AJTE752 TOEVEN 4 T87
N ~~~2~vJ9 N 11~~1 »wKJ7
S ~ ~~2~ ¢ 964 S11~~1 Q9%
E 442~5 @2 E~~11~ &QT75
W 442~5 W ~~11~




2 2018 $20E R FEHEF 2B 2 2
i g 2 S |=w|=w]| g IMP KN % B A

I 55 FR 1 FR 2 | Mac|2on | sor|Tos| IMP | IMP | IMP | IMP | e | A4 | A4 | (MP)
IMP IMP IMP | % | & ;EL oA I I MP MP a2,

1 Y JHIE EiRE 201 55 1 26 129 | 2 115 ] 2 212 2 1165 [53.0%] 3

1 B { =E 10 1 10 | -39 | -29 2.9 0.26 52.5 |47.7%

1 [CE i [CGIA 10 19 | -11 8 0.8 1.73 62.0 |56.4%

2 e T&E 201 55 | 20 |35 |1 18] 1 2750 1 |J111.0[50.5%] 4

2 TREET TR 20 1 21 | 51 1301 9 1-15] 9 o4l [ 9 1045 [475%| 5

3 H{E R FE 101 20 | 21 | -1 -0.1 0.95 53.5 |48.6%

3 ST BEE 10 11 | -19 | -8 -0.8 0.58 48.0 143.6%

5 [CRERE ST 10 | 49 6 | 43 4.3 8.17 78.0 170.9%

5 [GRER Fatf it 10 | 4 26 | -22 22 0.15 48.0 |43.6%

5 LR ST 101 25 | -13 | 12 1.2 1.92 65.0 [59.1%

5 R Fatf it 10 17 | =25 | -8 -0.8 0.68 48.0 |43.6%

6 2 X35 B 20 1 42 | 29 | 13 | 3 o7 ] 3 |145] 3 |122.0[555%] 2

6 ZIIEE =, FE# 10| 6 -49 | 43 43 0.12 32.0 [29.1%

6 ELE 2N FIHEE o 10 ] 13 | -18 | -5 -0.5 0.72 45.0 140.9%

7 R EE AR SHCE 10 | 23 11 |12 1.2 2.09 59.5 [54.1%

7 BT BAI 10 | 33 | -11 | 22 2.2 3.00 710 |64.5%

8 W E [EAES 201 29 | 46 | <171 7 1091 7 1063 ] 6 |104.0 [473%] 6

8 2 SO 201 23 | 40 | <17 1 7 1091 7 los8 | 7 1005 [45.7%| 8

9 TR T4 10 | 26 4 | 2 2.2 6.50 62.0 |56.4%

9 TR B &5 52 101 30 | -2 | 8 0.8 1.36 61.5 |55.9%

9 =S B 10 13 | 25 | -12 -1.2 0.52 45.0 140.9%

9 B BLFR AT 10 19 | -11 8 0.8 1.73 435 139.5%

10 PRELARL Z=HAG 20 1 33 | 43 [-10 ] 5 J-05]1 5 10771 5 1995 1452%| 9

10 S Bk 20 1 24 | 31 | 7 1 4 1041 4 10771 4 |1260 [573%] 1

11 i Eu=tr 1001 19 | 21 | 2 -0.2 0.90 50.0 |45.5%

11 B PR 101 10 | -16 | -6 -0.6 0.63 56.5 |51.4%

11 Pz B 10 | 24 -7 17 1.7 3.43 66.0 |60.0%

11 B Etfehn 10 | 17 | -I5 2 0.2 1.13 55.5 150.5%

12 a5y ZrE(E 10 21 | -19 | 2 0.2 1.11 60.0 |54.5%

12 ST AR Btk Al 201 20 | 35 | <15 ] 6 1-08] 6 1057 [ 8 |103.0 [468%| 7

12 Bk i JE=HI 100 12 | -13 | -1 -0.1 0.92 50.5 145.9%




2 2018 #205EgE 8 F SR e 2
hi i B @ | E=m | E=w | 2g | WP ® % | B

I 5 ?}ﬁ Mg | Tos| Tes s IMP | IMP | IMP | IMP | f#c| B A | B4 |MP)
IMP | IMP | IMP | & ¢ | Fae |27 | pdic |25 ]| MP 1

1 EE 10110 | 39 |9 2.9) 0.26 52.5 [47.7%

1 Bk | 20 1 29 [ 6O @D [ 24 Ja.D] 24 1058 | 20 [114.5 [52.0%] 11

1 EEE 1 20 [ 55 o129 [ 6 115 |6 212] 6 |1165(53.0%] 9

1 JosiE 120 155 1o 129 [ 6 1156 212] 6 |1165(53.0%] 9

1 BEkss 110119 [ ab | 8 0.8 1.73 62.0 [56.4%

2 s 1 20121 | DG [25 5] 25 1041 | 25 11045 [47.5%] 17

2 AR 1 20 155 1@ 135 [ 2 1.8 ] 2 J275] 3 |111.0[50.5%]| 12

2 o 1 20121 | SO LG [25 5] 25 1041 | 25 |104.5 [47.5%] 17

2 &= 1 20155 Jeol3 12 1182 [275] 3 |111.0[505%] 12

3 BEE L]l 1 | a9l ® (0.8) 0.58 48.0 [43.6%

3 I (O IO IO G (0.8) 0.58 48.0 [43.6%

3 FEFE 1012 [ eb] O 0.1 0.95 53.5 148.6%

3 HiEE ] 10120 el o 0.D 0.95 53.5 148.6%

5 gz 1 10117 el ® (0.8) 0.68 48.0 [43.6%

5 et 1 20 1 21 [ 6D @0 [ 25 Jas] 25 1041 [ 25 1960 [43.6%| 27

5 BEpE | 20 | 53 [ 3 21 [ 8 |11 | 8 166 ] 8 |1260[57.3%| 2

5 EmT 1201 74 1 a9 155 [ 1 128 | 1 |38 | 1 ]143.0650%| 1

5 AEsE 1 10125 a3 ] 1.2 1.92 65.0 [59.1%

6 R ] 20 1 19 | 6D 1@ 28 el 28 1028 | 28 | 77.0 135.0%] 28

6 B | 1016 | 19|43y (4.3) 0.12 32.0 [29.1%

6 B 1 20 1 42 [ 09 1 13 [ 9 107 ] 9 |145] 10 11220 [555%| 7

6 #F3E 201492 e 13 19 1079 [145]10 11220 [555%] 7

6 gk 1013 ayl] ® 0.5 0.72 45.0 40.9%

7 gCE 110123 [ ap ] 1.2 2.09 59.5 [54.1%

7 prEEME | 10 123 [ ab ] 12 1.2 2.09 59.5 [54.1%

7 e 1 10 133 [ an | 22 2.2 3.00 71.0 164.5%

7 Sin 10133 [ ab | 2 2.2 3.00 71.0 164.5%

8 #EE | 20129 | @o | dD 20 09|20 J063 [ 18 |104.0 [47.3%]| 19

8 Bz 120129 | ¢o ldn]120 [©09]20 [063 ] 18 |104.0 [47.3%] 19

8 B 20123 [ 4o 1 dn 120 09120 1058 | 21 100.5 [45.7%] 23

8 o | 20 123 | @0 JdD {20 09|20 J058 | 21 |100.5 [45.7%] 23

9 BEEE | 20 1 43 [ @D | @ [13 2] 13 1091 | 13 1065 [48.4%| 14

9 Wy L1013 1 29 | a2 (1.2) 0.52 45.0 [40.9%

9 Tzl 1 20 156 | 2o 130 | 4 115 [ 4 [215] 5 ]1235(56.1%] 5

9 P 1 20145 [ a1 30 [ 4 151 4 1300] 2 ]1055148.0%] 15

9 BEELEE | 10119 [ ab ] 8 0.8 1.73 43.5 139.5%

10 BB 1020 133 | @3 Ao 16 5] 16 {077 ] 16 |99.5 [45.2%] 25

10 BEkkE | 20 1 24 [ 3D D [ 14 4] 14 1077 | 14 11260 [57.3%| 2




2| 2018 $20EHEEHEF 2R e 2

B g_ a | o lswlsw]loe ] 2| % |5s
P e F R e |zon|zos |zms| e | e | P | IMP | | B2 | B A |ovp)
IMP IMP | IMP | ¢ | Fpe | #¢ | il | 25| MP MP ot 2,

10 PRERAEL 20 ] 33 43) 1 do 116 105 16 1077 1 16 ]99.5 1452%]| 25

10 eSS 20 | 24 SGH1 D114 1041 14 1077 1 14 11260 [57.3%] 2

11 [E 52T 20 | 34 (23) | 11 11 106 [ 11 1148 1 9 ]122.5155.7%| 6

11 B 10 | 24 | 17 1.7 3.43 66.0 160.0%
11 RIS 10 1 10 [ d6) | 0 0.6) 0.63 56.5 151.4%
11 =H{EE 20 | 36 | (36) 12 12 1 1.00 | 12 |105.5 |48.0%]| 15
11 =il 10119 [eh] @ 0.2 0.90 50.0 145.5%
11 H&H 0] 17 [ an] 2 0.2 1.13 55.5 150.5%
12 o] By 10210 [ a9 | 2 0.2 1.11 60.0 |54.5%
12 LoE(E 1021 [ a9 | 2 0.2 1.11 60.0 |54.5%
12 FFREH 20 1 20 [ G35 1 a5 |18 1 ©.8) ] 18 1057 | 23 ]103.0 [46.8%| 21
12 ek 7 A 20 1 20 [ G35 1 a5 | 18 1©.8)] 18 1057 | 23 ]103.0 [46.8%| 21

12 =R 10 | 12 a3 1 d 0.D 0.92 50.5 145.9%

12 ek I 10 | 12 a3» 1 @ 0.D 0.92 50.5 145.9%




A4 L Az ) AN v
2 \ 2018 ¥20EEEFIHEF 2R \ 2
NS HUE GEE 3 T b I 1 1 NS JJ5IE BIRE
EW HigE TEH a e EW FERAEERK, Fei 7k 5
1 |
st | oL | & & LE K ig | WRAA[ COP
b tyz 2% | NS | EW | 29225 | NS | EW | #3 | #1 | #3|#1[#3|#
11 S [None 3CW5 150 3HS-2 100 50 2
12| W | NS 2SE-1 50 2HW-1 50
13 | N |Both 4HN4 620 4HN4 620
14 | E [None 3HW3 140 2SN2 110 250 6
15| S NS 1HW4 170 4HW4 420 250 6
16 | W | EW 4SW5 650 4SW4 620 30 1
17 | N [None 4SN4 420 4SN4 420
18 | E NS 3SW3 140 3NE-6 300 440 10
19| S | EW 3SS-1 50 3SS-1 50
20 | W |Both 1NS-1 100 1NS-2 200 100 3
@3+ IMP| 9 [19
2 yau ~
& B 3 -2 1 i
* B IMP 9 19
& 3+ IMP 9 19
2 3-VP 0.57 13.43
bR




A5 L Apr ) 2\ . 2

2 \ 2018 %2055 HEHEF 2R e \
NS How %S 1 1 T bl 2 2 NS FREAR F 4w
EW RIS R a e EW TREETE R T
pt oL | 2% K R i %A A | COP

¥ tyz2 2% | NS | EW | 9225 | NS | EW | #11 | #2 [#11] #2 |#11]| #2
11 S [None 5CW5 400 3DE4 130 270 7
12| W | NS 3HW-1 50 2SE-1 50
13 | N |Both 4HN4 620 4HN4 620
14 | E [None 3HW3 140 3HW4 170 30 1
15| S NS 4HW4 420 4HW-1 50 470 10
16 | W | EW 4SW-1 100 2SW4 170 270 7
17 | N [None 2SN5 200 4SN-2 100 300 7
18 | E NS 5CE-3 150 4CE-2 100 50 2
19| S | EW 3SS-1 50 5DW-1 100 150 4
20 | W |Both 1NS1 90 1NS-1 100 190 5
@2+ IMP[22 | 21
B 11 v iE 2 £ =

* B IMP 22 21

& 3+ NP 22 21

2 3-VP 10.39 9.61

bR
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2 \ 2018 $20EHFIHEF 2R \ 2
o 7 |Table 3| 4 5,
EW able EW

i |
nee L K ik | ®mEAA|  COP
M 2922 [ NS [EW | 29z22% | NS | EW | #7 | #4 |#7 | #4|#7 | #a
11 | S [(None A Average A Average
12| W | NS A Averagd A Averagd
13 | N |Both A Average A Average
14 | E |None A Average A Average
15| S | NS A Averagd A Averagd
16 | W | EW A Average A Average
17 | N |None A Average A Average
18 | E | NS A Average A Average
19| S | EW A Averagd A Averagd
20 | W |Both A Average A Average
X3+ IMP
K- ~

sr || 7 mpmii |4 i

> B IMP

&3+ IMP

2 3VP 10.00 10.00

b 4




|2 | 2018 ¥20GEgapEF 2R | 2

NS A T NS IS s (e
EW ST T 9 Ta b I e 4 5 EW IR ST

B | DL | 5% | 2R3 R i¥ A%AA | COP 1

£xz2%2% | NS | EW | 2xz22% | NS | EW | #9 | #5 [ #9|#5|#9 | #5

11| S |None| 3HXS-2 300 3SW5 200 100 3

12| W | NS 2SE2 110 2SE-3 150 260 6

13 | N |Both 4HN4 620 4HN4 620

14 | E |None 1HW4 170 3HW4 170

15| S | NS 3HW4 170 3HW3 140 30 1

16 | W | EW 4SW4 620 4SW4 620

17 | N |None|  4SN-1 50 4SN-2 100 | 50 2

18| E | NS 3NE-6 300 5DN-2 200 | 500 11

19| S | EW| 3SXS-1 100 3SS-1 50 50 2

20 | W |Both 2HW-2 200 1THW1 80 280 7

3+ IMP|20 (12

% 9 -5 =5 5 Life
* B IMP 20 12

& 3+ IMP 20 12

# VP 12.83 717

b A




A4 L Apr ) 2\ . 2

2 \ 2018 %2055 HEHEF 2R e \
NS WHE RHE 8 T b I 5 6 NS = AR
EW 2158 ThRE a e EW HEF S

1 |
nee N LR i CEE s
M 2922 [ NS [EW | 29z2% | NS | EW | #8 | #6 | #8 | #6 | #8 | #6
11| S |None| 3HS-2 100 3HS-1 50 50 2
12| W | NS 4SE-3 150 3SE-2 100 50 2
13 | N |Both 4HN4 620 4HN4 620
14 | E [None 2HW?2 110 3HW3 140 30 1
15| S NS 2HW5 200 2HW4 170 30 1
16 | W | EW 4SW4 620 4SW-1 100 720 12
17 | N |None|  4SN-1 50 4SN-1 50
18| E | NS 4SW-1 50 5CE-3 150 100 3
19| s | EW 4HE-3 300 3S5-1 50 | 350 8
20 | W |Both| 2sw-2 200 1NS-2 200 | 400 9
M+ [MP|20 (18
,‘-yb‘

% 8 BH 6 U25-NCCTU

* B IMP 20 18

£ 3+ IMP 20 18

2 3-VP 10.77 9.23

% ¢




A4 L Az ) AN v
2 \ 2018 %2055 HEHEF 2R e \ 2
NS SRR kA 1 2 T bl 6 1 0 NS BESRAS Pk
EW Bk Mgl 5 =R a e EW PRSI REHES
I
nee R 'EE ik REAL [ COP
¥ txze%x | NS | EW | 252 2% | NS | EW | #12 | #10 [#12[#10|#12|#10
11| S |None 5CW-1 50 5CW5 400 450 10
12| W | NS 3CN3 110 2SE-2 100 10
13 [ N |Both 4HN5 650 4HN4 620 30 1
14 | E |None 3HW4 170 3HW3 140 30 1
15| S | NS 4HW4 420 2HW4 170 250 6
16 | W | EW 3SW6 230 3SW4 170 60 2
17 | N |None 2SN3 140 3CE-1 50 90 3
18| E | NS 4CE-2 100 4NE-6 300 200 5
19| S | EW 3SS-1 50 3SS-1 50
20 | W |Both 1NS-1 100 1NE1 a0 10
w2t IMP|14 |14
B 12 i 10 B3
* B IMP 14 14
£ 3+ IMP 14 14
2 3VP 10.00 10.00
b 34




